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B ® T I 112. 30 112. 30

UEmEiE U 2.80 2. 80

Brmit U 149. 90 149. 90

I 149. 90 149. 90

(59.7+82.1)-(2.00+14.9+112.3) /0.9=14.00
DS Al 14.00/0.9 x 1.2=18.67 18. 67
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NO.14+2.27 0.2 0.3
NO.14+3.45 1.180 0.1 0.15 02 0.3 0.30 04
NO.14+1930| 15850 0.1 0.10 16 0.3 0.30 48
NO.15 0.700 0.1 0.10 0.1 02 0.25 02
NO.15+4.10 4100 0.2 0.15 06 0.7 045 1.8
NO.15+9.83 5730 0.1 0.15 09 0.3 050 29
NO.16 10170 0.1 0.10 10 04 0.35 36
NO.16+1.80 1.800 06 0.35 06 04 040 ON4
NO.16+7.28 5480 O.7 065 36 06 0.50 27
NO.16+1224 4960 08 0.75 3.7 0.3 045 22
NO.17 7.760 0.1 045 35 0.3 0.30 23
NO.18 20.000 0.1 0.10 20 0.3 0.30 6.0
NO.18+1.24 1.240 06 0.35 04 0.3 0.30 04
NO.18+7.40 6.160 1.0 0.80 49 09 060 3.7
NO.18+13.09 5690 O 0.85 48 0.3 060 34
NO.19 6910 0.1 040 28 0.3 0.30 2.1
NO.20 20.000 0.1 0.10 20 0.3 0.30 6.0
NO.20+5.44 5440 08 045 24 04 0.35 1.9
NO.20+9.32 3.880 10 080 35 o.r 055 21
NO.20+13.21 3.890 ON4 0.85 33 04 055 2.1

& 5 | 130940 419 493
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NO.21 6.790 0.1 040 27 03 0.35 24
NO.21+7.43 7430 0.1 010 o7 03 0.30 22
NO.21+10.65 3.220 0.6 0.35 1.1 1.1 0.70 23
NO.22 9.350 0.6 0.60 56 1.1 1.10 103
NO.22+7.75 7.750 0.6 0.60 47 1.2 115 89
NO.22+9.93 2180 0.6 0.60 1.3 1.1 1.15 25
NO.22+15.49 5560 00 0.30 1.7 04 0.75 42

I\ B 42 280 178 328 00
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NO.14+2.27 00 00 (O
NO.14+3.45 1.180 00 0.00 00 00 0.00 00 0.1 010 01
NO.14+19.30| 15850 00 0.00 00 00 0.00 00 (O 010 1.6
NO.15 0.700 00 0.00 00 00 0.00 00 0.1 010 01
NO.15+4.10 4100 00 0.00 00 00 0.00 00 00 0.05 02
NO.15+9.83 5730 00 0.00 00 00 0.00 00 0.1 0.05 03
NO.16 10170 00 0.00 00 00 0.00 00 (O 010 1.0
NO.16+1.80 1.800 00 0.00 00 00 0.00 00 0.1 010 02
NO.16+7.28 5480 00 0.00 00 00 0.00 00 00 0.05 03
NO.16+12.24 4960 00 0.00 00 00 0.00 00 0.1 0.05 02
NO.A7 7.760 00 0.00 00 00 0.00 00 (O 010 08
NO.18 20.000 00 0.00 00 00 0.00 00 0.1 010 20
NO.18+1.24 1.240 00 0.00 00 00 0.00 00 01 010 01
NO.18+7.40 6.160 00 0.00 00 00 0.00 00 00 0.05 03
NO.18+13.09 5690 00 0.00 00 00 0.00 00 01 0.05 03
NO.19 6.910 00 0.00 00 00 0.00 00 0.1 010 o7
NO.20 20.000 00 0.00 00 00 0.00 00 01 010 20
NO.20+5.44 5440 00 0.00 00 00 0.00 00 0.1 010 05
NO.20+9.32 3.880 00 0.00 00 00 0.00 00 00 0.05 02
NO.20+13.21 3.890 00 0.00 00 00 0.00 00 0.1 0.05 02
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NO.21 6.790 00 0.00 00 00 0.00 00 (O 010 (ON4
NO.21+7.43 7430 00 0.00 00 00 0.00 00 0.1 010 o7
NO.21+10.65 3.220 0.1 0.05 02 00 0.00 00 00 0.05 02
NO.22 9.350 0.1 010 09 00 0.00 00 00 0.00 00
NO.22+7.75 7.750 0.1 010 08 00 0.00 00 00 0.00 00
NO.22+9.93 2180 00 005 0.1 00 0.00 00 00 0.00 00
NO.22+15.49 5560 00 0.00 00 00 0.00 00 08 040 22

I\ B 42 280 20 00 38
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NO.14+2.27 0.6 00 08
NO.14+3.45 1.180 05 055 0.6 00 0.00 00 08 080 09
NO.14+19.30| 15850 05 050 79 00 0.00 00 06 0.70 111
NO.15 0.700 04 045 03 00 0.00 00 06 0.60 04
NO.15+4.10 4100 02 0.30 1.2 00 0.00 00 00 0.30 1.2
NO.15+9.83 5730 o7 045 26 00 0.00 00 1.0 050 29
NO.16 10170 09 0.80 8.1 00 0.00 00 1.1 1.05 10.7
NO.16+1.80 1.800 08 085 15 00 0.00 00 1.1 1.10 20
NO.16+7.28 5480 0.1 045 25 00 0.00 00 00 055 30
NO.16+12.24 4960 06 0.35 1.7 00 0.00 00 1.0 050 25
NO.A7 7.760 09 075 58 00 0.00 00 1.3 115 89
NO.18 20.000 10 0.95 190 00 0.00 00 1.2 1.25 250
NO.18+1.24 1.240 09 0.95 1.2 00 0.00 00 1.2 1.20 15
NO.18+7.40 6.160 03 0.60 3.7 00 0.00 00 00 0.60 3.7
NO.18+13.09 5690 08 055 3.1 00 0.00 00 1.2 0.60 34
NO.19 6.910 09 085 59 00 0.00 00 1.2 1.20 83
NO.20 20.000 1.1 1.00 200 00 0.00 00 1.2 1.20 240
NO.20+5.44 5440 08 0.95 52 00 0.00 00 1.3 1.25 6.8
NO.20+9.32 3.880 04 0.60 23 00 0.00 00 00 0.65 25
NO.20+13.21 3.890 08 0.60 23 00 0.00 00 14 0.70 27
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NO.21+7.43 7430 1.1 1.10 82 00 0.00 00 16 1.55 115
NO.21+10.65 3.220 0.1 0.60 19 00 0.00 00 (O 0.85 27
NO.22 9.350 00 0.05 05 0.1 0.05 05 00 0.05 05
NO.22+7.75 7.750 00 0.00 00 04 0.25 19 00 0.00 00
NO.22+9.93 2180 00 0.00 00 00 0.20 04 00 0.00 00
NO.22+15.49 5560 0.1 0.05 03 00 0.00 00 14 0.70 39

I\ B 42280 174 28 284

=] B 173.220 112.3 |Im3 28 m2 1499 Im2




||

& B 5 5

5T

=

= 2 & S s
2R BERE oS50 amovo0—r PO L F|BBovsu—r [ Esovon—r] PRI 7IUE
EOOREE
e o0 300 m| 942 m? 461 m? 2355 t| 1085 t
SEFD> 0 — iR 7
R o 20 &F| 0414 m3 037 t
B> — s
L=250m5 1 7 40 ®F| 049 m° 124 t
N
BB 1011 m? 56 m® 1162t
BB
o 605 m?2 665 m? 1562 t
SRR
=1 Bonbl T 1939 m
5 1005 m° 461 m3| 1225 3 2516 t 1085 t 2724 t




B &

B 5 &

it %

g RESE SO —k = IJU—FVI& Himo&%m
gE_TLTE SEERl 450 i 076 t
iy 7 )~ i 20 @ 014 m3 012 't
K oe 7~ 40 &7 049 m3 036 t

076 t 048 t




B &

Hl

s

=
£

i B

NO.1

fiz &

BoL

B120
+H120%

L600

TJU—FVI&

£XE71Y)- MR T

B

T

BEEA
B&500
BL=10)

L=1.50

L=2.50

iR

ECE
=3cm

t

EAIBS
dx
=

t =5cm

il
15emIY

=

NO.14+2.65~
NO.22+1549

M

M

P

£

p—

=R

m2

m2

m

NO.14+19.30~
NO.15+9.83

1769

5.1

NO.15+4.10

8.00

40

NO.16+2.10~
NO.16+1224

19.36

80

NO.16+7.28

8.00

40

NO.16+2.77

10

NO.16+11.61

10

NO.18+1.24~
NO.18+13.09

3245

80

NO.18+2.45

1.0

NO.18+7.40

8.00

40

NO.18+11.73

1.0

NO.20+5.44~
NO.20+13.21

16.54

NO.20+9.32

6.00

3.0

NO.20+5.91

10

NO.20+12.88

10

NO.22+7.75~
NO.22+12.80

1507

NO.14+2.65~
NO.22+1549

1728

5t

00

00

00

300

M
0.0

M
150

ElZi
20

Gl
40

m2
60.5

m2
0.0

m2
1011

1939




BB R EE500%1 Q00K AL B & B X H 8 ZE  300mu0

500 VS{I;E
1,570kg/2m
HEEY
-
T
Lo
=
3
[e)
| \| =
BV J—F 860 E@Ea o U—F
| EY BEEY
2 Rl OB g N H =
RIBAIA
avoU—+E8 1570keg/2m 30.0/2.0%1.570 = 2355
SHEZIYIY- 0.50+0.05%30.0x2.35 = 17625
H@oyo— 0.86*0.15+%30.0x2.35 = 90945
st = 34407 3441 t
VDY — 5 SRERIEED 2355+250 = 9420 942 m®
HEESET (1.76+9.09) +-2.35 = 4610 461 m°




DU—FIDE B & B X 5 8B E 15830

BEBEREZES00M(1L=1.0)

995

(@]
©
($3]

600

W=51ke/#&

g Rl RIS g = =

]

i 600X995 0.051X15 = 0.760 076 t




SV D) — MR B & B X 5 8B E 20840

L=1.50m%!

HEYEE 100 x 100

1500
M o
=
o
2
S
o ™
S
R d=60mm%a A 7
W=62ke,/#x
2 Rl OB g N W 2
avoU—+E8 62ke/ B 0.062X3X2 = 0370 037 t
VDU — 8 BRERESD 037+250 = 0140 014 m®
BT HE8100X 100 1.800X16.9/1000X4 = 0120 0120 t




=

SKEFI> ) — SRR B & B XEX 5 8B E 408540
L=2.50mZY
MR d=60mm%A4 7 HE44H 100 x 100
W=41ke/#% ‘ 1000 1500
o < .
S
8 o~
iR d=60mm#A 4 7
W=62kg/#

2 Bl OB g =N W =
Vo —rEE 62ke/ M (00414+0062) X3X4 = 1236 124 t
VDU — 8 BRERESD 1236250 = 0494 049 m°

BT HE8100X 100 1.800X16.9/1000X12 = 0.360 036 t




P2 7)U R _
|[BIASE SIS T=50m B & B K 5t & & 1onup

EAPSHZ

BWEERE A= 101.1 m2

BRAEEE- 23 t/mS3

50

g Bl =) g =N A
PRI 7 )R

by T=5cm 101.1 X0.05 = 5055 506 m®

g8 5055x%2.3 = 11.620 1162 t




[ P27 7)U LR

IBIASEERAT=11cn B & B X i 8 E  10mup
EDEEES
BWEERE A= 60.5 m2
BRAEEE- 235 t /m3
=

g Bl =) g =N A
PRI 7 )R

by T=5cm 60.5x0.11 = 6650 665 m®

g8 6.65x2.35 = 15620 1662 t




1
=

n]:’? N
# H T F& OBl AT E PO L= g BAAT i TR | i TEEAL | Mt T AZ | fHIE Bk EUE - KRR EIE m%%?m a— R
AR ERKWE TE01
K0001
HE T EE
P10000
1 1 =
ERK LT
X309010
1 1 =
+T
Y309005
1 1 =
PR H T
Y104005
1 1 =
PR NEAE HYEE 1-1-0-1
THb E%E SP210100-0002
80 80 m3 37 m3/ H 2.16
T
Y604005
1 1 =
YA NP HYEE 1-1-0-1
2. SmATif SP210520-0001
10 10 m3 43 m3/ H 0.23
AR (BL8) K T HYEE 1-1-0-1
2. SmATi SP210510-0001
110 110 m3 50 m3/ H 2.20
NERITER
X404005
1 1 =
EHEEE T
Y404010
1 1 =
BT e 1-2-0D-1
) VR B R ORYE £ R+ SP220010-0001
Bl TR M L 2 2 m2 140 m2/ H 0.01




L. ~ = — it P
2l B H E X
# H - I M - R B - M B AT E PO L= g BAAT i TR | i TEEAL | Mt T AZ | fHIE Bk EUE - KRR EIE ﬁmlﬁ%f”ﬂ a— K
LR HUEE 1-2-00-1
o IS = R (27 QO 1 e - o SP220010-0002
HEHREOE L BUGHO®EL 140 140 m2 220 m2/ H 0. 64
AT
Y202045
1 1 =
ANTHEZ FYEE 11-2-D-40
SP220910-0002
140 140 m2 222 m2/ H 0. 63
EET
X512005
1 1 =
BIE LS T
Y202000
1 1 =
T8 B GRET) HYeE V-1-0O-1
2 B0 = 120mm 1) i T SP410031-0001
E)79v%7 RC-40 69 69 m2 268 m2/ H 0.26
B B GRETD) HYeE V-1-0-1
2 B0 = 120mm 1) i T SP410041-0002
PR (57 69 69 m2 268 m2/H 0. 26
FJg (REE) 18 Y 9 44 /E40mm HEE V-1-0-1
TAT/EFE (2. 30LL F2. 40t/ m3 A1) SP410261-0001
SR E L. AmERE 77 F4ha—} 69 69 m2 250 m2/ H 0.28
FE CHEE) UE% Y 4 EE30mm FHUEE V-1-O-1
TA/EFE (2. 30LL F2. 40t/ m3 A7) SP410261-0002
SEHEEL AmAKH Fya-} 69 69 m2 250 m2/ H 0.28
HRIEFE T
Y512085
1 1 =
T8 B GRIETD) e Iv-1-0-1
2 E Y E150mm 18 G T SP410031-0003
PR (&) 171 171 m2 268 m2/ H 0. 64
B B GRIETD) e Iv-1-0D-1
2 F 0 JE100mm 1) JiE T SP410041-0003
PR (B ) 171 171 m2 268 m2/ H 0. 64




L. N = — KA L
B Gi7 B H E X
# H T BBl - M H A E RBRBE | HAL e TR | e LEFA| ELHEE | MERE| LU - RoRE m%%?m a— K
)@ CREEs) 184 0 4 E=E30mm HEHEE V-1-0-1
TAT/E-FH (2. 30LL E2. 40t/ m3 A1) SP410261-0003
SEHIEE L Am R 77 74 ha—b 171 171 m2 250 m2/ H 0. 68
X TR T
¥104040
1 1 =
X E A A/ IEHIR ERH 15em FEHEE VI-1-0O-1
WIE M $821210-0001
B REHE SFEMIEE 172 172 m 3, 000 m/ H 0. 06
BEAAEE Y T
X500010
1 1 =
LT
Y200005
1 1 =
=i HEHEE 1-1-0Q-1
THp /AR SP210030-0001
50 50 m3 32 m3/H 1.56
HWEREL JFUHEE 1-1-0)-13
IINHAE SP210410-0001
+-ab 2 2 m3 40 m3/H 0.05
HEAK T
Y500045
1 1 =
2B
B400-H400 70002
127 127 m
U B ESE AT g VI-1-0)-1
L=2000mm 1000kg/fELL T $821410-0001
B RERROM LA e L 127 m 43 m/H 2.95
1237 FERERE 1)
J0014
63.500| #&
FerfA T
J0004
52.705| m3




HERZ LSRN TF
L. N = — KA L
B Gi7 B H E X
# B - I & BBl - M H AR X GsE | HAL e TR | e LEFA| ELHEE | MERE| LU - RoRE m%%?m a— K
ZAKy-b T
J0005
347.980| m2
WO ELE T
J0006
120. 650 m2
2B
B400-H1000 J0007
42 42 m
L=2000mm 1000/#B2000kg /& LL T $821410-0002
I BRI SRR b T 42 m 29 | m/H 1. 45
1235 B R R AT
J0014
21 5
FelEfa T
J0004
27.384| m3
ZAKY-bL
J0005
165.606| m2
AR T
J0006
41.160| m2
HRRIEAT T HEHEE VI-1-0G)-1
2= = EIEE A 400HE FHT-25 432%100%1000 $821430-0001
B IRE [ AR d 46 46 e 120 ¥/ H 0.38
SRR g VI-1-0)-1
a/)) - MRS 40kg/F LT $821430-0002
B IRE [ AR d 39 39 e 200 ¥/ H 0. 20
BHRT
Y100110
1 1 =
BFEHEKE Rf) ey T -2-00-1
[H% 50~150mm SP222770-0002
10 10 m 250 m/H 0. 04




L. ~ = — it P
2l B H E X
T #& oBo - M H AT E PO L= g BAAT i TR | i TEEAL | Mt T AZ | fHIE Bk EUE - KRR EIE miﬁi}f'ﬂ a— K
E )L Z VIR FUEE 11-4-0-1
i 1:3 SP240060-0001
0.003 0.003| m3 0.910 m3/ H
@ ik T
X506030
1 1 =
[EZEn
Y003000
1 1 =
SHEER T D v 7 RE FEUEE IV-2-0)-1
&-#i (100022000, 150-550k g ATii) SP422510-0001
P T9v47v RC-40 ¥ U HtfEay))-pRgE 72 72 m 49 m/H 1. 47
RELEBER T wy) KERFLAE
FEAES, L=2.00m J0009
30 30 m
SHERERA T D v 7 RE HHEE V201
£-F& (1000#82000. 150-550k g i) SP422510-0001
) Tyv47v RC-40 ¥ U HtfEay))-pRgE 30 m 49 m/H 0.61
HHGEBER T e vy FRE FEHEE V-2-)-1
£-F& (600#81000mm, 50—-150kg i) SP422510-0003
) Tyv4Ty RC-40 ¥ U HtfEay ) ) - bR 7 7 m 43 m/H 0.16
JH AR T
Y309125
1 1 =
R E (R — R — /LAY FEHEE VI-2-@-1
Coffl (BFLEE) W ¢ 1I00LLTF 1Ml 0% $812320-0001
FAL10~30A A0 REGFO e &2 M 1EE T 11 11 A 200 A/H 0. 06
T AT 7L NEEE T
Y000005
1 1 =
T8 K (BE - B E RB) e v-1-D-1
2 Y E250mm 28 it T SP410030-0001
HE)79v%7 RC-40 115 115 m2 470 m2/ H 0.24
FJEg (HIE - R ER) 184 Y {1 E/Z50mm FngdE V-1-0-1
TAa/45-FE (2. 304 E2. 40t/m37R ) SP410260-0001
TR EL 4~3. omPLF 7 94ha—} 115 115 m2 1, 300 m2/ H 0. 09




L. N = N = A
XA E B R E R
®% H - T M - F W - M H WEPCE | AR | B 7 16 T % s gpprn | OLRAR oy
&L T
X108215
1 1 =
SR LT
Y108210
1 1 =
WEmE Y Zb L &Ly (BE) AR I-3-G)-12, VI-1-@-1
MRS EY $824020-0003
R BRI (BT - IR B R 4 4 n3 19 0.21
WEmE Y Zb L &Ly (B JHEE I-3-G)-12, VI-1-@-1
BRI EY $824020-0001
R BRI (BT - IR B R 10 10 n3 11 0.91
i RO HEHeEE V-3-0)-1
TAT7VMEEERR 15emEL T SP430510-0001
190 190 m 230 0.83
il AR HEueE V-3-2-1
TAT7VMEREE R SR 15emEL T SP430310-0001
PEEER L BAMEEAR BEREXRARE 101 101 m2 510 0. 20
% T
X100020
1 1 =
% T
Y100020
1 1 =
KRB0 5 BUE-FE T 11-5-0-6, M-3-G)-4~6
A EEFE RO M LT $252730-0001
6 6 4% 36 0.17
AR EBE T
Y108000
1 1 =
RIBFHEEfFE B et 11-5-21-1
$010210-0001
42 42 AH
e SR
81 EiF 21.000
20. 550




N A e
AL 1 HOE R
. - s | . ; . . - e L
Rl o H B | ELEHA | ELHE (MERH| Y- fidE o
21




